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Read the following passage and answer the questions
that follow:

A bullion coin is a coin struck from precious metal and kept
as a store of value or an investment rather than used in
day-to-day commerce. A bullion coin is distinguished by
an explicit statement of weight (or mass) and fineness on
the coin; this is because the weight and composition of
coins intended for legal tender is specified in the coinage
laws of the issuing nation, and therefore there is no need
for an explicit statement on the coins themselves. The
United Kingdom defines investment coins more
specifically as coins that have been minted after 1800,
have a purity of not less than 900 thousandths and are, or
have been, legal tender in their country of origin. Under
United States law, "coins" that fail the last of these
requirements are not coins at all, and must be advertised
as "rounds" instead. Bullion coins are usually available in
both gold and silver [citation needed], with the exceptions
of the Krugerrand (note in 2017 the first silver Krugerrand
was minted) and the Swiss Vreneli, which are only
available in gold. The American Eagle and Canadian Gold
Maple Leaf series are available in gold, silver, platinum,
and palladium. Bullion coins are typically available in
various weights. These are usually multiples or fractions
of 1 troy ounce, but some bullion coins are produced in
very limited quantities in kilograms or heavier. Bullion
coins sell for a premium over the market price of the metal
on the commodities exchanges. Reasons include their
comparative small size and the costs associated with
manufacture, storage and distribution. The amount of the
premium varies depending on the coin's type and weight
and the precious metal. The premium also is affected by
prevailing demand.The ISO currency code for gold bullion
is XAU. ISO 4217 includes codes not only for currencies,
but also for precious metals (gold, silver, palladium and
platinum, by definition expressed per one troy ounce, as
compared to "1 USD") and certain other entities used in
international finance, e.g. special drawing rights.

1) XAU is the ISO currency code for?

A) Gold Bullion TeCh OfWO rld ; I N

B) Silver bullion
C) Platinum bullion
D) Palladium bullion

C) Nickel Silver
D) Iridium

3) The weight and the fineness is not explicitly stated in
the coin because

A
B
Cc
D

it reduces its value

it is confidential

it varies for each transaction

it is specified in the coinage law

— et

4) A Bullion coin is used as

A) an ISO currency

B) a currency in stock market

C) a currency in everyday transaction
D) an investment

5) The amount of the coin premium depends on the

A) bargain price

B) buyer

C) prevailing demand
D) seller

6) Find the most appropriate opposite meaning word:
COMMISSIONED

A) Terminated
B) Started

C) Closed

D) Finished

7) Select the correct option.

My teacher's name is William.
2) The American Eagle and Canadian Gold Maple Leaf A) the
series are available in
B) an
A) Palladium C)a
B) Bronze D) no article
Page1of22
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Section 1 - Paperl-English Language

Techofworld.In

Read the following passage and answer the questions
that follow:

A bullion coin is a coin struck from precious metal and kept
as a store of value or an investment rather than used in
day-to-day commerce. A bullion coin is distinguished by
an explicit statement of weight (or mass) and fineness on
the coin; this is because the weight and composition of
coins intended for legal tender is specified in the coinage
laws of the issuing nation, and therefore there is no need
for an explicit statement on the coins themselves. The
United Kingdom defines investment coins more
specifically as coins that have been minted after 1800,
have a purity of not less than 900 thousandths and are, or
have been, legal tender in their country of origin. Under
United States law, "coins" that fail the last of these
requirements are not coins at all, and must be advertised
as "rounds" instead. Bullion coins are usually available in
both gold and silver [citation needed], with the exceptions
of the Krugerrand (note in 2017 the first silver Krugerrand
was minted) and the Swiss Vreneli, which are only
available in gold. The American Eagle and Canadian Gold
Maple Leaf series are available in gold, silver, platinum,
and palladium. Bullion coins are typically available in
various weights. These are usually multiples or fractions
of 1 troy ounce, but some bullion coins are produced in
very limited quantities in kilograms or heavier. Bullion
coins sell for a premium over the market price of the metal
on the commodities exchanges. Reasons include their
comparative small size and the costs associated with
manufacture, storage and distribution. The amount of the
premium varies depending on the coin's type and weight
and the precious metal. The premium also is affected by
prevailing demand.The ISO currency code for gold bullion
is XAU. ISO 4217 includes codes not only for currencies,
but also for precious metals (gold, silver, palladium and
platinum, by definition expressed per one troy ounce, as
compared to "1 USD") and certain other entities used in
internaticnal finance, e.g. special drawing rights.

1) XAU is the ISO currency code for?

A) Gold Bullion TeCh OfWO rld . I N

C) Platinum bullion

D

)
B) Silver bullion
)
) Palladium bullion

2) The American Eagle and Canadian Gold Maple Leaf
series are available in

A) Palladium
B) Bronze

C) Nickel Silver
D) Iridium

3) The weight and the fineness is not explicitly stated in
the coin because

A) it reduces its value

B) it is confidential

C) it varies for each transaction

D) it is specified in the coinage law

4) A Bullion coin is used as

A) an ISO currency

B) a curmrency in stock market

C) a currency in everyday transaction
D) an investment

5) The amount of the coin premium depends on the

A) bargain price

B) buyer

C) prevailing demand
D) seller

6) Find the most appropriate opposite meaning word:
COMMISSIONED

A) Terminated
B) Started

C) Closed

D) Finished

7) Select the correct option.
My teacher's name is William.

A) the

B) an

C)a

D) no article



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Sl L 1% o WA S

8) Fill in the blank with the correct option.

| have brothers.

A) one
B) a

C) two
D) not

9) Select the correct form of verb from the given options.

My brother football in the same club as
me.

A) would have played

)
arsoered Tachofworld.In
)

D) plays

10) Choose the most appropriate similar meaning word:
TIMID

A) Unabashed
B) Extroverted
C) Courageous
D) Demure

JoinUs-' > f
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8) Fill in the blank with the correct option.

| have brothers.

9) Select the correct form of verb from the given options.

My brother football in the same club as
me.

A) would have played

)
srvares T achofworld.
)

D) plays

10) Choose the most appropriate similar meaning word:
TIMID

A) Unabashed
B) Extroverted
C) Courageous
D) Demure
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Section 2 - Paperl-Education and General Awareness
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11) The basic recommendations of which of the following
policies/commissions were related to national form of
education, more emphasis on learning, delinking degree
for any service, vocationalization of education, importance
on moral values etc.?

A) National Commission of Education, 1986
B) National Policy on Education, 1968

C) New Educational Policy, 1986

D) National Commission of Education, 1968

11) GIARIQ 6°Q FIAR / IR Q 671AR 2GEAIRTIER R
FI518 26 I, BRIGS AT6R 2R FIR 6991, FIdY TSI 019
291g ARG AL, 2RI (A9 68, 150e dal QU6 9o 2R?

A) QYIAeIR @TAE 2T 9g6Raq, 1986
B) cuiaeiq ofid 219 1geade, 1968
C) 8g ugeaania aRd, 1986

D) syIa@in @8Qe 2 9geads 1968

12) The University Grants Commission selected which of
the following departments as Centre of Advanced Study
In Education (CASE) in the year 19637

A) Faculty of Education and Psychology, Baroda
B) Faculty of Education, Gwalior
C) Faculty of Education, Bhopal
D) Faculty of Education and Psychology, Mumbai

12) GOAIQ 696E QRID g 64996 AT AGAIRYE IBF @
1geaes (3492.9) Qd 62 1963 Al 6q Heds ged
@fdq gIal 990 Al AIRSARI?

A) YRR, AT IPERAR 218 ARCRICAIF, BRI
B) cuieq B ageear, sqlziteiq

C) SvIaf, AT Igeade, 6QITIR

D) crind, 2 Igeads 2I¥ ARERIENT, AR

Techofworld.In

13) Which of the following systems of education, based on
the accepted structure of 10+2+3 was proposed by
National Policy on Education, 19867

A) Social system of education
B) Primary system of education
C) National system of education
D) Unitary system of education

13) 10+2+3 Q0GR QUER ZRIGS 7¢ IR 629 JRI Y
YRACIN TRd 216 9gERds, 1986 0l JAIRT 6IRgMI?

A) &8

B) &

C) dm1a F1016: Q4agl
D) daia wae Q4edl

I AT Yl

&
Jia QIeIfe Yagl

14) Entomology is a branch of zoology that deals with the
scientific study of

A) the birds

B) the animal behaviour

C) the formation of rocks
)

D) the insects

14) GBLUCAIEAIT YIS YRIGA 99 A1 QLI o 6SRIGa
AR 4T3 P60 |

A) aa
B) agriew siezia
C) am g8

)

D) a5

15) The power of the Supreme Court of India to adjudicate
disputes between the Government of India and one or
more States or between the Government of India and any
State falls under which of the following jurisdictions?

A
B
C
D

Appellate Jurisdiction
Original Jurisdiction
Advisory Jurisdiction
Wit Jurisdiction

S s
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11) The basic recommendations of which of the following
policies/commissions were related to national form of
education, more emphasis on learning, delinking degree
forany service, vocationalization of education, importance
on moral values etc.?

A) National Commission of Education, 1986
B) National Policy on Education, 1968

C) New Educational Policy, 1986

D) National Commission of Education, 1968

11) GeQ 606 @FAR / IRQ1 @ 6610 AFEAIRGIER Rl
PIP19 20 F8, 2RIAE AUCA 2R Fo1 699, RITY IVS! 0IQ
2919 2NGl QgL 2RI F1PQ d3l, G S8 AU6R Yo AE?

A) 4IQQIR KFA6 2 1geads, 1986
B) cuaeim ofd 2e ugeaan, 1968
C) §g 1geaaaia and, 1986

D) quigeim @fiae 2 ugenas 1968

12) The University Grants Commission selected which of
the following departments as Centre of Advanced Study
In Education (CASE) in the year 19637

A) Faculty of Education and Psychology, Baroda
B) Faculty of Education, Gwalior
C) Faculty of Education, Bhopal
D) Faculty of Education and Psychology, Mumbai

12) FAUQ 6maf GEld q 6990 2T AGNIQE FIF @
9geads (§49.9) QO 6a 1963 adgl 6a GAEAT gea
@fQQ GI0l 9Le R AIRYWI?

A) QR AT IGERAR IS ARERIENIT, ERR
B) cruiaf 21 geede, 6qiZmeIs

C) qIaR, 21T Ngeeas, sRIdIR

D) cvial) 2 9g6ade 214 ARERIERIF, IR

Techofworld.In

13) Which of the following systems of education, based on
the accepted structure of 10+2+3 was proposed by
National Policy on Education, 19867

A) Social system of education
B) Primary system of education
C) National system of education
D) Unitary system of education

13) 10+2+3 Q09QI A06R RIS §7 RIQ 676 A2 4L
AR IR ARG 2R 1geadn, 1986 Il JYET 6TIRANI?

A) daiq ARIR YLl
B) dmia giedie suagl
C) dmia SIe1s Q4edl
D) dgie 9ae Qiedl

14) Entomology is a branch of zoology that deals with the
scientific study of

A) the birds

B) the animal behaviour
C) the formation of rocks
D) the insects

14) G6LIEAIEAIT JI81 TREQ @ SIS LD Q 6T8GER
YA A8 F60 |

A) aat

C) cae Q8

)
B) agriea qieala
)
D) a1

15) The power of the Supreme Court of India to adjudicate
disputes between the Government of India and one or
more States or between the Government of India and any
State falls under which of the following jurisdictions?

A) Appellate Jurisdiction
B) Original Jurisdiction
C) Advisory Jurisdiction
D) Writ Jurisdiction
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15) QUIOG AARIQ G 9@ QI 2L AR i I NAY AARIQ G
6@16E QY FIER 29l FRIGR TR KRS AR AR 6P
MIARAR Q1 8@ FIAUQ 690 QRAGIR IR AIYR?

A) 2136nS GOAETR T eC h OfWO r‘

B) 2Q0G0In 9269Q
C) 21001090 §aABeR
D) 3iq goa@eq

15) QIQQ AeRIQ @ 9@ Q 2R AR Fld QI NG AR @
6@16d QISY F16Q QI FRIPQ TRAN FAQI IR NAGA A6RIF
MIARAQ Y31 98 FYAUQ 6QR FAAGFR TUER AIYR?

A) 21Id6ns @RAEFR T e C h OfWO r

B) 2G9N 9909
C) 2I00IRed §oA6eR
D) Gq g0Qégq

JoinUs-' > f
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Section 3 - Paperl-Reasoning

16) In a certain code language DEMAND is coded as 4, if the question can't be answered at all.
MEDDNA. How would HYBRID be written in that code
language?
What is the smallest angle in the triangle ABC?
i ieiioe Stat tl:AngleBis 90d
atementl . Angle b I1s egrees.
&) DIRBYH TeCh OfWO rI d 2 I n Statement Il : Sum of the other two angles is also 90
C) BYHDIR degrees.
D) HYBDIR
A) 1
B) 4
16) 4@ @48 QTSR QSIEe DEMAND { QAwde @6 C)2
MEDDNA Q219 | 69F Ql6@6e @Idleq HYBRID @ @a& D)3
EMGER?
A) BYHRID 18) FeadIeaT: FIRS 996
B) DIRBYH 1 099 @93 94 6897 A2 | AIRILIEA JIa 980 SAYIRAIQE
C) BYHDIR I
D) HYBDIR
2 090 @0g, 99 62 F18QY || ALEAICER J46 aa GaIIR
AIgE |
17) The length of a box is measured as 25 cm instead of
40 cm. What is the % error in the measurement? 3, 99 QEe | 9e° || A26KI96Q J4a Qa9 IR QIgE |
A)75 4, 9% 990 269 6069 @ GaIAIQ AIfe QIF |
B) 37.5 .
C)12.5 ABC G@a6a 99Q 6815 6@l1¢l 60@S!?
D) 25

€189 |: 6@1€ B Q191 90 @91 |

~ — A - a8 1l &gy 9@ 6@18 Adaa A2 90 G491 |
17) @ QIF F1IdQIQ 42l 40 69Q€4¢19Q SORER 25 64E1T0 691m

FAAGR | CIYER 6260 JHI6 G 6TIRSR ?

A) 1
A) 7.5 B) 4
B) 37.5 Q)2
C)125 D) 3
D) 25

18) Instruction: TeCh OfWO rI d n I n

In the following questions mark:

1, if the question can be answered with the help of
statement | alone.

2, if the question can be answered with the help of
statement Il alone.

3, if the guestion can be answered with the help of both |
and Il.

Join Us-
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Section 3 - Paperl-Reasoning

16) In a certain code language DEMAND is coded as 4, if the question can't be answered at all.
MEDDNA. How would HYBRID be written in that code
language?

What is the smallest angle in the triangle ABC?

A BYHRID Statement | : Angle B is 90 degrees

L) DA Te C h OfWO rl d I n Statement |l : Su?n of the othe? two angles is also 90

C) BYHDIR . degrees.

D) HYBDIR
A) 1
B) 4

16) W@ @Ga qeede @aea DEMAND q Qe @Ise C)2

MEDDNA @@ | 698 Q6@5e @18I6e HYBRID @ &aF D)3

EMEEa?

A) BYHRID 18) Fendiant FOR%S gq6a

B) DIRBYH 1 399 Q98 U6 619% A8 | AILIYYEA I99 A9 FAIYQAIQE

C) BYHDIR I

D) HYBDIR - & ~
2 526 @99, 99 6a9r 71294 || AT6LITER J9R aaa J2IKIR
QARG |

17) The length of a box is measured as 25 cm instead of

40 cm. What is the % error in the measurement? 3, 9% QEA | 95° || A96QITER J4Q Qe JAI0 IS |

A) 7.5 4, 9% g9 28R 6769 & FRALIR AR Q1F |

B) 37.5 _ »

C)12.5 ABC §ge6a Qg0 621q 6916 696917

D) 25

8 | 6916 B Q191 90 3¢ |

_ o Y _ Ay Il : Ay @ 6@I8 FERa 1zl 90 &g |
17) 4@ QIf AI3QIg 92l 40 6Q5F10Q Q906Q 25 6Q445q 6Q1R

FENTSR | FIT6R 676G TFG G 6TIRAMI ?

A) 1
A) 7.5 B) 4
B) 37.5 C) 2
C) 125 D)3

D) 25

Techofworld.In

18) Instruction:
In the following questions mark:

1, if the question can be answered with the help of
statement | alone.

2, if the question can be answered with the help of
statement Il alone.

3, if the question can be answered with the help of both |
and II.

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

WtsApp/Call- 8596976190

Join Us-

19) Instruction: Below mentioned are statements followed
by some conclusions. You have to take the given
statements to be true even if they seem to be at variance
from the commonly known facts. Read all the conclusions
and then decide which of the given conclusions logically
follows from the given statements disregarding commonly
known facts.
Statements:
Some classes are seminars.
All the seminars are reports.

Conclusions:
I) All the reports are seminars.
Il) Some classes are reports.

A) Only Il follows

B) Both | and Il follow

C) None of the conclusions follow
D) Only | follows

.

19) F6RAIRRT: 6@ TAARS A8QY 08 78 Fad QUAISE |
2IgaGg SRR ABNG AGY QIR AIRAIG AFe 9G¢ @ 1l
QARIGSIER RGNS G2OIR BR 6asIAIRAIG | AFS Fady ael
93° 9IU60 98 F2g, FAKIRYQI Fad FrIQ 6R6S! ARIRER
€IS 924Q ARR KRR ey OR QIES AQANE @gE |
ABQY:

@8 QA gew 6aaRIq |

Q9 627919 969 G6aITd |

fad:
) Qg f6aIe 9E@ 62ARIQI

Il) &8 QI 6208 G6aIS |

A) 62a% || 29208 QG
B) a@@ | 9e° 1 2920d @98

) 6193 & A =
)

C) 616d @ §dIAq AGA0d @ag 1@
D) epaq | 29994 @95

20) Instruction: Below mentioned are statements followed
by some conclusions. You have to take the given
statements to be true even if they seem to be at variance
from the commonly known facts. Read all the conclusions
and then decide which of the given conclusions logically
follows from the given statements disregarding commonly
known facts.

TeChOfWO rld . I nStatements:

Some programs are codes.
Some codes are queries.
Some queries are solutions.

Conclusions:

I) Some programs are queries.
Il) Some codes are solutions.
II1) Some solutions are queries.
IVV) Some solutions are codes.

A) Only | follows

B) Only IV follows
C) Only Il follows
D) Only Il follows

20) FELEIRN: G6R FAULIRYQI AL I8] 78 AT TRALIRE |
298G QAR (247 ASY 691R AFSIQ J6e 9L6 T €@
ARIREER FEIQR FAIOIR GR 6QSILIRAN | AN Fad] 06
4Q° 0IU6a F9R fag, QuIKIRYQI Fad FuQ 696G ARIRER
@61 GAQ 2T AR A1BYG OF NIET 29U FQE |
A2QY:

@8 699K 6298 691!

@8 601q 6298 94 |

a8 g9 6208 AFRIL |

ﬁﬂ;lfechofworld. In

) &2 6QIgiF 624E g4 |
1) @8 691§ 6268 AQIAR
) @F QAIQR 6298 94

IV) @8 AQIAR 6208 61

A) 6297 | 239048 493 |
B) eaaa IV 8g0d @og |
C) 6aa 1l 29048 @9 |
D) 6aa@ Il 29908 @68 |
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19) Instruction: Below mentioned are statements followed
by some conclusions. You have to take the given
statements to be true even if they seem to be at variance
from the commonly known facts. Read all the conclusions
and then decide which of the given conclusions logically
follows from the given statements disregarding commonly
known facts.
Statements:
Some classes are seminars.
All the seminars are reports.

Conclusions:
1) All the reports are seminars.
II) Some classes are reports.

A) Only Il follows

B) Both | and Il follow

C) None of the conclusions follow
D) Only | follows

19) FELGIRT: 96@ G2UAIRYSI NS I8G 78 Hd G2UARF |
2Igg SULIRYI Q1247 ASY 691R AT 969 988 § «al
QRIGEISR BEIER PAOIQ §R 6aFIAIREN | A7 Fadq 9eg
a° QI6a 796 Gag, GUIUIRYQl FAd FrIQ 6RRS ARIRER

Techofworld.In

20) Instruction: Below mentioned are statements followed
by some conclusions. You have to take the given
statements to be true even if they seem to be at variance
from the commonly known facts. Read all the conclusions
and then decide which of the given conclusions logically
follows from the given statements disregarding commonly
known facts.

Statements:

Some programs are codes.

Some codes are queries.

Some queries are solutions.

Conclusions:

) Some programs are queries.
Il) Some codes are solutions.
Ill) Some solutions are queries.
I\VV) Some solutions are codes.

A) Only | follows

B) Only IV follows
C) Only Il follows
D) Only Il follows

20) FeRaIan: G6r FRALIRYL A2N 98g 78 AT TR |

28T QULIRLS Feddq 9oy 69lh FIRAlg UEe 983 § g

PEIZQI G21Q URAINTI KQYTI 194G O] RIER AQAAE 98 | QRUINER KGRI SAMOIR §iR sedIAIRAN | ANY Fady 96

ARt 9Q° GII6R F8@ FUg, TAKINYS Had g 6REc! ARISEER
@8 QId g (IR | FE18S1 G2YR 2RTIERI FQ2lQl FaRYe O RIER 2gdad @9 |
g 6AA9IQ 9ER G6QISQ | aaqy:

@8 699K 68R8 a1
aad: @8 6RI1Q 6298 94 |
@8 g4 6268 AARIL |

%IechoﬁNoHdJn

) Ag G6aId gE@ 6AFRIQI
Il) &8 Q19 62@& G6IS |

) @8 69I9I5 629E 94 |
A) 6297 |l 29908 @03
B) @@ | 9e° Il 29909 909
C) 6q161d G GdIag 2gA0d Qag QIF
D) 6raw | 2GA0d @99

1) G 6mIg 626T AQuae
Ill) @ dQyee 6248 94!

IV) 38 ARIAR 6268 61Ig!

A) 62957 | 832048 @93 |
B) @ IV agaed @ag |
C) 9% Il 23204 @93 |
D) saeq Il 29964 @ag |
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Section 4 - Paperl-Teaching Aptitude

Techofworld.In

21) Which of the following terms can be defined as the
ideas that a person or a group believes to be right or
wrong, good or bad, attractive or undesirable?

A) Values
B) Norms
C) Culture
D) Behaviour

21) 3¢ IRIGR1 FUQ 669 ZIREE I K98 64 601G A

Q1 601G 60IRTE 0@ @ @R, 9N QI §aID, AHE1A I 291G
2667

A) gRieaR
B) cug

C) aeaia
D) 2ioqs

22) "Responsibility, Respect, Care, Trustworthiness,
Citizenship" are all traits used to help instil a positive

learning environment for the children. These can be
categorised as

A) Personality traits
B) Character traits

C) Individualistic traits
D) Ideological traits

22) QIflg, 9719, 99, §9491A0!, FIERRGl BIE ANY FaTS!
TS IR 96 ARQING SN JR6ad FFIH6R AIRIY

Q991 Qs QYR FAAN | 1@ 9P cwe QU adige
RAIIRAIER?

A) qiEq Seasol
B) 58506 G668%!
C) qyages Qe
D) Go1006 Q6586

23) Which of the following agencies of education helps the
child for its full physical growth and motor coordination
through proper food, nutrition, health habits, exercise and
immunization programmes?

A) Newspapers
B) Radio

C)

D) Library

23) dQ1Q F601I9 AGRARGES FRIQ 6966 AAYD HIQY, 6CITE,
IIRIIY, AT 99° TRIRRE QILIGA JPR TRl Fg] oI
FI910Q QRIE 19° GGG 9d FRRIEa AITILY SGUN?

24) What is the full form of RTI?

A
B
Cc
D

Response to Information
Right to Indifference
Response to Intervention
Right to Information

—_— - e e

24) 21952IR (RT)R g4 990 @'€?

A) 60999 § ARTEAAR
B) aiag ¢ aqbaeaq

C) 6090Q ¢ f9a6RaAR
D) QIeg ¢ 9/T6AAR

Techofworld.In

25) Which of the following skills are NOT related to Life
skills?

A) Thinking skills
B) Memory skills
C) Emotional skills
D) Social skills
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21) Which of the following terms can be defined as the
ideas that a person or a group believes to be right or
wrong, good or bad, attractive or undesirable?

A) Values

B) Norms

C) Culture

D) Behaviour

21) G NIRRT FRIQ 604 ZIREE I @S 64 69ITa AT

QI 665N 691F1T OR @ @m, R QI YAIY, ARG @l 2EeR
a6g?

A) gaueai
B) cie

C) aeaua
D) 2108

22) "Responsibility, Respect, Care, Trustworthiness,
Citizenship" are all traits used to help instil a positive

learning environment for the children. These can be
categorised as

A) Personality traits
B) Character traits

C) Individualistic traits
D) Ideological traits

22) QP 9AIR, 99, SYdRIATl, FIPRRC AIE AN F6EEe
RIS AR 99 ARIRINS ZRION J8699 FFlEea QIIY

@GSl QI8 SR FAAN | ¥ 9FY 69X QU6a QGRS
QUIRUIER?

23) Which of the following agencies of education helps the
child for its full physical growth and motor coordination

through proper food, nutrition, health habits, exercise and
immunization programmes?

A) Newspapers
B) Radio
C) Home
D) Library

23) d8IQ G67)I3 AGIIRGER AUQ 6R0E QUGS FIRY, 6TITE,
JIIRYIY, LUILIF 9L FRIGAE QIdIGT 9F@ FIal Fgg IR
FIRG@ YRS 19 GIGTR] o8l FRQIEQ AIRIY QBRIN?

A) agieag
B) 6@
C) ge

D) aioigia

24) What is the full form of RTI?

A) Response to Information
B) Right to Indifference
C) Response to Intervention
D) Right to Information

24) 21658IR (RT)Q 94 900 @'4?

A) 6099Q § anTedas
B) qiog ¢ ardaeaq
C) 60909 ¢ A4a606A0

D) Qiag § eeasdian
B e Techofworldin
B) 6Qgae Q6896 25) Which of the following skills are NOT related to Life
C) Q4agee Scaae! skills?
D) Go10016 G688

A) Thinking skills
B) Memory skills
C) Emotional skills
D) Social skills
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25) AERQ 699 28| F19F AFCIGER A0 AAL G6L7

A) QG216 Q88!
B) qce egeIa @80l

C) QIeiea6 956! TeCh OfWO rld : I N

D) ani@e egel

26) Which of the following options is INCORRECT with
reference to the organizations part of the joint initiative
that launched the Computer Literacy and Studies
programme in 19847

A) National Council of Educational Research and
Training

B) Council for the Indian School Certificate Examinations
C) Department of Electronics

D) Ministry of Human Resource Development

26) 1984 qde6a 20 (LIRS FHICQ AIVAS! 9e° Sl

ANGIQ TG 2RAIGER 28 2AQAIR 6IGER F6TIB A
6@6 9a8 N7

A) gI012 §91 962841 ¥Q° SIRA aRae
B) aicoia ¢m ai5dses aiel 9GEe
C) asneq, 15 aais

D) aiee age 81k 9100

27) The way students form their groups in a class is called

A) class atmosphere
B) class arrangement
C) group dynamics
D) group mechanism

27) YISEIFKIER 684160 Faa Y@ 60181 G2IR @I QUG
@8 QLA ?

A) 6841 aGEas
B) 6ga queal

C) 60191 9548190
D) sq1®1 Qg

Join Us-

28) A Student who is outgoing and very confident and
easily interacts with strangers is called

A) ambivert
B) extrovert
C) extraordinary
D) introvert

28) @68 @guiel A9 2060 UEw A%c Aewsa G4 el
62IRAI6R 4R° 9] AR SIF 6 FRIAN ?

A) QRIS
B) o@den
C) aaried
D) aiqdei

29) In which year was the National Council of Educational

Research and Training set up as an autonomous
organisation by the Government of India ?

A) 1971
B) 1961
C) 1951
D) 1959

29) PIge ARIRE ISl 1Y TR JEITE 9e° SN QSR
4@ 9 4136 29AIR QN6 699 9F QITE GQUAIRSRI?

A) 1971
B) 1961
C) 1951
D) 1959

30) National Curriculum Framework came out in

a2 Techofworld.In
) 2001
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25) GIFUQ 609 AU0! F1Q0 @ERIGER AT AR 9647

A) QIEQR @a0!
B) cce agela @8e!

C) QIRI6eE Q! TeChOfWO rld " I N

D) aiqiGe @as!

26) Which of the following options is INCORRECT with
reference to the organizations part of the joint initiative
that launched the Computer Literacy and Studies
programme in 19847

A) National Council of Educational Research and
Training

B) Council for the Indian School Certificate Examinations
C) Department of Electronics

D) Ministry of Human Resource Development

26) 1984 ATQKA QA R FEITA AIFAL! e A

QINIGAQ ARG 2RAIGER 2°agl A9TIF 68956 F6eqIB I
6RQ Qa8 gN?

A) Q1910 G391 969841 NS° SR 0RSQ
B) aieo1a an a6d6aq 01al 989
C) qemeq g Saual

D) ciee QR oK ARIRa

27) The way students form their groups in a class is called

A) class atmosphere
B) class arrangement
C) group dynamics
D) group mechanism

27) 2IGRIRKIER 644166 Faa Y@ 64IF F2IR *AQIQ AAIAg
@8 QLIArg ?

A) 65411 0Q6Q4
B) 6ga11 queq

C) a1 QTSRS
D) ear quedl

28) A Student who is outgoing and very confident and
easily interacts with strangers is called

A) ambivert
B) extrovert
C) extraordinary
D) introvert

28) @68 Goueh O4 20aGe Quae afe deese 8 el
6RIRKIER 9e° §Q AT Gl @ RIAN ?

A) @RQgIsl
B) o@dgn
C) aarieg
D) ziae e

29) In which year was the National Council of Educational

Research and Training set up as an autonomous
organisation by the Government of India ?

A) 1971
B) 1961
C) 1951
D) 1959

29) QIRE ARG FIQ FIS1L 68T F6RTE e° SIRE ATV
4@ 9e° 9130 AR NUNER 600 9F TS FUARIYRAI?

A) 1971
B) 1961
C) 1951
D) 1959

30) National Curriculum Framework came out in

»2 Techofworld.In
) 2001
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30) @IS oYY &l 692 F13A2I6Q 2Iea @AM ?

Techofworld.Ir

A) 2005

)

) 2007
) 2003
) 2001

o O W

30) M AIOYGE LIS 69Q AJL6R QL @ALIRER| ?

A) 2005
B) 2007
C) 2003
D) 2001

Techofworld.In


https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

WtsApp/Call- 8596976190

Join Us-

Section 5 - Paperll-Odia Language
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31) 0 ¢. G6EI8 AIQ 6PR6 AVATER G0R R Q6% ?

A) gee
B) agsie
C) gqa
D) Geauw

32) QY98 2gQ6R 60 99 212l ZEFaT QIR F1Q ARIRF! 26R
A 5RQ QINER FEG QI 69151 Y FEN FIRIG @ v GLIAN

2

A) g@

B) ealdia
C) ca09e
D) gq

33) QAR AR Y6M | 6RHITE 995 @ 9RIQ F6HVE 26T ?

A) QI QIe@
B) Geua

C) ag@ Qloe
D) gesae

34) GORYE FUQ 6960 6RIFS’ 90a ATIAIT IR ?

A) Qeet
B) age
C)@s
D) e

35) GOAYE AUQ 6RE6 'AE dRa AdYAIST 8% ?

A) aee
B) Qi
C) aggie
D) agia

36) FAYC 604 AUQATT gIASE AR QI BRI RGeS QEIT
6212l ?

A) 98
B) &y
C) Q
D) g

37) GORYP FIQ 66 699F 9@ GER?

A) 62196
B) asigal
C) 6ol
D) qeie

38) ‘9@ ARAIR G Y- QETR 2 @'q ?

A) qd

B) cde
C) grugie
D) aiar]

39) 652 QdfIRl AUQ 6066 Y@ YBINR 1e° QI 9@ 994 o

" Techofworld.In

A) g
B) &
Cle
D)@
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Section 5 - Paperll-Odia Lanquage
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31) R ¢. F69IB FRIQ 6RRE AAAGER A0S IR G6w ?

A) golie
B) aagte
C)aqe
D) Gequs

32) QU98 2GAIER 60L 99Q 2E 26T ILIR AR ARIRR Z6R
I B8 QIQER F4g I 691G Igg TEN FIRIQ @ IR GRIAN

2
A) @@

B) caldia
C) saege
D) gq

33) RIAR AR 2R | 6AUIFE 906 @ 9RIa F6aad 216G ?

A) QI Qo
B) Qe

C) ag@ Qioe
D) gaim

34) FIRYS AkIQ 6965 6AIFS’ SRa ATIARITT &R ?

A) Qeer
B) age
C)@e
D) de

35) GRS UG 6048 ‘UeE I0a YIS 99 ?

A) zeq
B) qie
C) aqgie
D) agia

Join Us-

36) ARG 699 AUAGE QIR0 AR QI BRI AERGYER JERIT
62IRelN ?

A) g9
B) 2y
C)gq
D) g

37) FORYEe FRIQ 6966 6998 IR Q627

A) 62199
B) zaiga
C) 6ol
D) qei

38) ‘9@ 09QIQ AST- QFFa 28l @4 ?

A) qd

B) ade
C) qruaie
D) aiary

39) (332 QLAIRI F1IQ 6996 I@ YBINA Ye° 912! 9@ 968 Q4

" Techofworld.In

A) g
B) e
C) s
D)a
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40) oonl JISEQ 49 69KeE | 6aIEe J9G @ gala §6894 45) '981 6960 69Q g AIGE ?
920 @q?
) Techofworld.In  #»ss
) 98 QER B) ag
B) 2eqi Qo C) &g
C) gag Qo D) &
D) gaciam

41) 'UQIe QUL - QETa 2d @& ?

A) 2@%e adl
B) &6ie asaie
C) 2agi0a Qg
D) 21g Q&

42) GIAGE FRIQ 6968 ‘AR’ 900 AR 4R ?

A) gea
B) agea
C) agq
D) g&

43) gd+ag = ?

A) gedg
B) gdg
C) gedig
D) 98g

44) @7 Q2 @2, 694 RIAFQA | QTS UL 9BF @ JRIQ 6T
?

veaoe 1 €CHOTWOTId.IN

B) g¢ Qiow
C) adqi4 qlee
D) gas qioe
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40) ooml QIEER A 6UILRE | 6aGlIEe F05 @ dRIQ G6EITE

096 @Q?

A) g8 qloa Techofworld.In

B) 2eql qiee
C) ga& qlox
D) gaciae

41) '2QIR QB — QLTQ 2d @€ ?

A) 26521 3l
B) Goia aegiey
C) aagiaa Qg
D) 2g @&

42) AR AQ 6296 ‘G0’ §0a ARG 4R ?

A) aea
B) aigea
C) 299
D) q&1

43) ga+ag = ?

A) gedlg
B) gdg
C) gedig
D) gég

?

A) 21991 QIR TeChOfWOHd . I N

B) g¢ qlo@
C) adaig Qo9
D) ga¢ Qo

44) 7 Q2 QL 694 FIFINA | 6QTETS A2 QLG @ IRIQ 66l

45) '921 S06Q 69Q U AIGE ?

A) 9]
B) aq

C)@q
D) &
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B peyres

Section 6 - Paperll-Mathematics

48) The product of two numbers is 768. If the H.C.F. of
these numbers is 16, then the greater number is

A) 98
2= Techofworld.In
) 48

D

46) Qa6 QWA GEITR 7681 UT 9E AHiIGgFa 9.1 .5 16
94 6069 Qa1 QY 6298

47) A triangle in which all the three sides are of different
length is called

A) Scalene triangle
B) Congruent triangle
C) Isosceles triangle
D) Equilateral triangle

47) 99 09F 6A986Q AN AT QI R 68 A &N, oIeIg
QLIIN|

A) JaAQIg Gas
B) agee @9
C) angaig Goe
D) apQig Gg@

48) IfU={1,2 3 4 5}, R={1,3 5}, S={3,4,5}, T={2,4}, then ((S
UR)NT)

A) {1,2,3,5}
B) {3.4,5}
C){2,3,5)
D) {4}

48) 98 U={12345}, R={1,35}, S={34,5}, T={2 4}, 606@
(SUR)NT)

A) {1.2,35}
B) {3.4,5}
C) {2,3,5}
D) (4

49) If X% of 25 = 2.125, then x =
A) 9.5
B) 9
C)8
D) 8.5

49) 9@ 25@ x% = 2.125, GI'6I6M X =

50) What is the ratio of the area of the inscribed circle to

the area of the circumscribed circle of a square with a
diagonal of 2 m in length?

50) 2 fica 6344 A58 A4 Q1 IR AdENGA IIER IL° HGER
2@G 62100191 9R0 6ATR FRIER 2R X667

Techofworld.In
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Section 6 - Paperll-Mathematics

46) The product of two numbers is 768. If the H.C.F. of
these numbers is 16, then the greater number is

A) 98
2= Techofworld.In
) 48

D

46) Qa% A°HIQ GATre 7681 Q@ V& A°HIYFR 6.Q1 .9 16
24 6969 QLA AW 6208

47) A triangle in which all the three sides are of different
length is called

A) Scalene triangle
B) Congruent triangle
C) Isosceles triangle
D) Equilateral triangle

47) N9 9g% 690269 A BRE Qg Or 8% Ag 2N, orIg
QLIANI

A) QEARIE Sge
B) agee cee
C) angaig Gae
D) aqiqig Sge

48) IfU={1,2,3,4,5}, R={1,3,5}, S={(3,4,5}, T={2,4}, then ((S
UR)NT)

A) {1,2,3,5}
B) {3.4,5}
C) {2,3,5}
D) {4}

48) 98 U={1,2,345}, R={135}, S={34,5}, T={2.4}, 656
(SUR)NT)

A) {1,2,35)
B) {3.4,5)
C) (2,35
D) {4}

49) If x% of 25 =2.125, then x =

A) 9.5
B) 9
C)8
D) 8.5

49) ©G 25Q x% = 2.125, GI'6@6m x =

A) 95
B) o
C)s
D) 85

50) What is the ratio of the area of the inscribed circle to
the area of the circumscribed circle of a square with a

diagonal of 2 m in length?
A)2:1
B)4:3
C)3:4
D)1:2

50) 2 ficq 696 Ga a4 Q1 YR LTEASR QIIER 9G° AFER
YTO 621021 QAR 68TR FIUEQ AQAIR 6667

».. Techofworld.In
C)3:4
D)1:2
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[E LT VR L vV vV

UV/=JUWIC-ZU 17 Dalvil) L7 L LU wUla
51) What is the area of a rectangle whose perimeter is 94 53) QU1 A 69T QY9 RIA YRR €7 GAY FRAIES
cm and the diagonal is 37 cm? = = =
12 5% 2@ 995 @93 Q° AR 968 QYA 64T Qg9 £)m
A) 630 cm? e MY @RRIER 25% @9 999 @adI 19 aQea 9af gmy
B) 750 cm? T h f | d I F12168 Ta Rs. 30 6669 I2IQ 90 R @817
s Techofworld.In
D) 420 cm? A) Rs. 90
B) Rs. 70
- 2 ne C) Rs. 100
51) 94 64¢1 AQQIFN G 37 64¢1 ¥l 891 @ YOG CAGTR
A) 630 @9l 6QF
< 54) What is the area of a rectangle whose perimeter is 16
B) 750 @l 6Qf cms and length is 6 cms?
C) 920 26l 6QF
D) o A) 12 cm?
420 Q6 6451 B) 10 cm?
C) 23 cm?
D) 22 cm?
52) After simplification, the expression 6(m — 3n) + 3m(n
+ 5) - 2n(3 - m) simplifies to
54) Otk 16 697 @ we] is 6 6971 QI AILSTIR 687 QA CAYTR
A) 21m-24n+5mn 6060 ?
B) 19m+22n-5mn
C) 24m-21n+5mn A) 12 ca@?
D) 19m+21n-6mn _
B) 10 eafi?
C) 23 eafi2
52) Q0R1RQdl 6251 J69, 9A1ead 6(m - 3n) + 3m(n + 5) - D) 22 a2
2n(3- m) @ AARIQS Q4 629
A) 21m-24n+5mn 55) If a set has 3 elements in it, then its power set will have

how many elements?
B) 19m+22n-5mn

C) 24m-21n+5mn A) 8
D B) 27

) 19m+21n-6mn C) 10

D)6

53) If a merchant A marks the price of a product 12.5%
higher than its original value and another merchant marks ~ ~ 38
the price of the same product 25% lower than its original 55) @@ GGIIG:‘I 64e6a ~ W adiars Hh, SE6S I dHlQ
value and if the difference between the two prices of the 64G6R 6@ERIT QUIQF QL7
productis Rs. 30, what is the original value of the product?
A) Rs. 90 A8
B) Rs. 70 B) 27 TeChOfWOI’|d|n
C) Rs. 100 C) 10
D) Rs. 80 D)6
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51) What is the area of a rectangle whose perimeter is 94
cm and the diagonal is 37 cm?

A) 630 cm?
ggxg'TechoﬂNoHdJn
)

D) 420 cm?

51) 94 627 aGQlell @ 37 627 Q4] 231 IR INGEAGR 6TSTR
6687

A) 630 adl 6Qf

)
B) 750 ¢l 64
C) 920 @9l 69
D) 420 @¢l 647

52) After simplification, the expression 6(m - 3n) + 3m(n
+ 5) - 2n(3 - m) simplifies to

A) 21m-24n+5mn

B) 19m+22n-5mn

C) 24m-21n+5mn
)

D) 19m+21n-6mn

52) A0R1R9d 6291 96, AA1RRS 6(M - 3n) + 3m(n + 5) -
2n(3-m) @ RS QT 629

A) 21m-24n+5mn
B) 19m+22n-5mn
C) 24m-21n+5mn
D) 19m+21n-6mn

53) If a merchant A marks the price of a product 12.5%
higher than its original value and another merchant marks
the price of the same product 25% lower than its original
value and if the difference between the two prices of the
productis Rs. 30, what is the original value of the product?

A) Rs. 90
B) Rs. 70
C) Rs. 100
D) Rs. 80

53) QeI A 616D AQIRQ GAIA LA 7R JRY PRI
12.5% 2@ 926 992 19° 2R K68 QYA 6QZ AYI9R RY
a8 Ry gRAIEa 25% @ 096 KBl IE Qe ¢ad gay
12160 Ta@ Rs. 30 6069 210 90 FaY K617

A
B

) Rs. 90
) Rs. 70
C) Rs. 100
D) Rs. 80

54) What is the area of a rectangle whose perimeter is 16
cms and length is 6 cms?

A) 12 cm?
B) 10 cm?
C) 23 cm?
D) 22 cm?

54) 98} 16 69F1 8 @F is 6 64E1 RN ALTRNIQ 6RAG Q EHGTR
6@6G ?

A) 12 6Qfi?
B) 10 eafi?
C) 23 6afi?
D) 22 eafi?

55) If a set has 3 elements in it, then its power set will have
how many elements?

=2.0.0 B
D = N
o =~

o

55) 9% 665 69666 3 § QIR 21N, 6969 LR 1G9
606 66015 QU 0EQ?

A
B

- Techofworld.In

D

) 8
)
C) 10
)6
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56) The ratio of marks obtained by Anand and Banu is 6 :
5. If the combined average of their percentage is 68.75

and their sum of the marks is 275, what is the total marks
for which the exam was conducted?

A) 200

s | echofworld.In

C) 500
D) 300

56) diew 9a° @Q JIREQl 9FQ AgdIe 65 | 99 6QelIew
g&99a fiRe 2QIaE 68.75 ¥8° 6QFIRE AU A& 275,
606Q. JAPIFE 621R2S IRIBIR AT X0 IR 60667

A) 200
B) 100
C) 500
D) 300

57) What is the value of V457967

A) 116
B) 114
C) 216
D) 214

57) V45796 Q Fja 60697

A) 116
B) 114
C) 216
D) 214

58) A bag contains Rs. 50, Rs. 20 and Rs. 10 currency
notes in the ratio 5 : 6 : 4 amounting to Rs. 3280. The
number of currency notes of each type respectively is

A) 40, 48, 32
B) 24, 100, 8
C) 48, 50, 8

D) 50, 38, 40

58) 69l QYIGI6Q 5 : 6 : 4 2gIPER Q912 Rs. 3280 @G
Rs. 50, Rs. 20 and Rs. 10 ¢€9Ia Q@81 g6o4a gai ¢g!
Q2IGEF CREE A°SNIER QTR

A) 40, 48, 32
B) 24,100,8
C) 48,50, 8

D) 50, 38, 40

59) The H.C.F. of two numbers is 13 and their L.C.M. is

54009. If one of the numbers is 117, then the other number
is

A) 601
B) 308
C) 301
D) 318

59) Q@6 <°HIQ 61.€1.9.13 9e° 6QA7IRTA MALG. 5409 | 9@
6Q9G AIQ 651G I 117 , 636 2Ry QAFHYIT

A) 601
B) 308
C) 301
D) 318

60) If (5/4)(x + 4) > (1/2)(x + 8) — 8, then the value of 'X is

A) x<-12
B) x>-12
C) x>12
D) x>-10

60) 9@ (5/4)(x + 4) > (1/2)(x + 8) - 8, 686@ X @ IR 62T

vx<12 Tachofworld.In

B) x>-12
C) x>12
D) x>-10
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56) The ratio of marks obtained by Anand and Banu is 6 :
5. If the combined average of their percentage is 68.75

and their sum of the marks is 275, what is the total marks
for which the exam was conducted?

A) 200

s | echofworld.In

C) 500
D) 300

56) ding 98° @ dIRgQl 9Fe 29I 6:5 | 99 sdfiem
g890a fine RI@ 68.75 Y9° CAFIRE FYQ P& 275,
666Q. JOPIFE 62IRASI IAIVIQ AFDID AR 62667

A) 200
B) 100
C) 500
D) 300

57) What is the value of V457967

A) 116
B) 114
C) 216
D) 214

57) V45796 Q g 60697

A) 116
B) 114
C) 216
D) 214

58) A bag contains Rs. 50, Rs. 20 and Rs. 10 currency
notes in the ratio 5 : 6 : 4 amounting to Rs. 3280. The
number of currency notes of each type respectively is

A) 40, 48, 32
B) 24, 100, 8
C) 48, 50, 8

D) 50, 38, 40

U/=JUWIC-LU 1Y DAvIL) L/ LU Vdla

58) 651G QUIGER 5 : 6 : 4 29U ALY Rs. 3280 CQI6IQ

Rs. 50, Rs. 20 and Rs. 10 ¢]9Ia Q@81 g6a4e gaiq g9
QIGEE 6RE6E A°SIER QTR

A) 40, 48, 32
B) 24,100, 8
C) 48,50, 8

D) 50, 38, 40

59) The H.C.F. of two numbers is 13 and their L.C.M. is

5409. If one of the numbers is 117, then the other number
is

A) 601
B) 308
C) 301
D) 318

59) Q@G QAR 6.91.5.13 98° 6A7IAFA R.Al.G. 5409 | Q@
6AGER FRIQ 631G A°HYI 117 , 6364 ZRY AT

A) 601
B) 308
C) 301
D) 318

60) If (5/4)(x + 4) > (1/2)(x + 8) — 8, then the value of 'X is

A) x<-12
B) x>-12
C) x=12
D) x>-10

60) G% (5/4)(x + 4) > (1/2)(x + 8) - 8, 696@ X @ R 6208

vx<12 Tachofworld.In

B) x>-12
C) x>12
D) x>-10
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Section 7 - Paperll-Social Science
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61) Who among the following was the chairman of 63) frRge faIQ 690 gQI0a AFR 9Q1RRE SI6gIGy @g
credential committee?

PPN eIy gl@@@? AR 26T ?

A) Dr. Krishnamachari

B) A.V. Thakkar A) dig
C) B. Pattabhi Sitaramayya B) ¢191g qae
D) Alladi Krishnaswami Ayyar C) o

D) qgugian

61) feqlia FaQ @ 599018 *ATQ 2™ eEm?

= 64) Which of the following languages of leaming was used
A
) @ GenIeie in Ancient India?
B) 6. o=@
C) @ a9 QIGIRIFIL g f';:sk
D) aiqu@ Gaie 21gia

)

)
C) Sanskrit
D) Devanagari

62) What is the name of the award given by the
Government of India to village panchayats with the

64) gI91R AINGER FIRYS AU 699 AVIQ FYSI QIS YA6R
objective to promote rural sanitation? QIR QQITIRENI?
A) Nirmal Gram Puraskar

; A) gie
B) Ujjwal Gram Puraskar _
C) Swachh Gram Puraskar B) aieq
D) Saaf Gram Puraskar C) Qeae

o y D) gaagaai

62) G672 FUQ 69% YRR IR a8l @8el F763 LRI

AT FINASIACYFR 9918 KAUAN? 65) Who among the following freedom fighters led a team

of revolutionaries to raid a Chittageng Police Armoury in
~ < 19307
A) Bde 919 geia

B) @@@ 9191 goia

A) Srendranath
B) Amirchand
C) 2g g gazia
g g C) Basant Kumar
D) aig gl goia D) Surya Sen
65) foage FUQ &4 FERIA AIRTA 9@ @@ § 1930 6a
63) Which among the following is a non-renewable but Sesliar 69RQ 6 SYFIN6R SITI AIGAER?
recyclable natural resource?
A) geagaiel
A) Metals 609 T h f |d I
B) Fossil fuels B) odacia eC O Wor . n
£) Ferest C) ads QA
D) Wildlife .
D) qd eaq
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Section 7 - Paperll-Social Science

Techofworld.In

61) Who among the following was the chairman of
credential committee?

A) Dr. Krishnamachari

B) A.V. Thakkar

C) B. Pattabhi Sitaramayya
D) Alladi Krishnaswami Ayyar

61) 618 F1IQ &4 §9ARIE RATR 21UV g6R?

A) . GaRISIRT

B) 9w.@. o=@

C) 3. agid QIeIInIl
D) aiqiG GaIQIA1 2igia

62) What is the name of the award given by the
Government of India to village panchayats with the
objective to promote rural sanitation?

A) Nirmal Gram Puraskar
B) Ujjwal Gram Puraskar
C) Swachh Gram Puraskar
D) Saaf Gram Puraskar

62) F6qID F1Q 604 JaRA CGAR QA 85I 763 AR
SR 9IFITBILeYRe 998 QaIaI?

A) G6R gIF geia
B) aa? gIf geia
C) 9g 9K gaal
D) aier gie1 gaia

63) Which among the following is a non-renewable but
recyclable natural resource?

A) Metals
B) Fossil fuels
C) Forest
D) Wildlife

63) fORge fUQ 69w JRIRE AYR FIRRE Ay T
SFRRE 651G JIGHR AR AT ?

A) uig

B) 1914 aRe
C) garm

D) q&ugian

64) Which of the following languages of leaming was used
in Ancient India?

A) Greek

B) Latin

C) Sanskrit
D) Devanagari

64) gI91R ARGER FIRNYS NG 624 QTG FYRI VIS QAR
QLI FAITRRI?

A gie

B) aigg

C) arae

D) eeaqaal

65) Who among the following freedom fighters led a team

of revolutionaries to raid a Chittagong Police Armoury in
19307

A) Srendranath
B) Amirchand

C) Basant Kumar
D) Surya Sen

65) FOAge U @9 QERIN JIRE 9! 9@ g 1930 &
CREGIEF 691 Q §UIGINER BIAI AURRIEM?

A) geageiel

B) gdiacio TeChOfWOI’|d . In

C) eas gaQ
D) gd 6aq
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66) Which of the following is a huge mass of ice that flows

like a slow river?

A) Glacier
B) Snow

e Techofworld.In

66) IS FRIQ 6RUE YT Q IR FGIR QRUFIS 26T AITIF
YA G OF gLIFS 62027

A) 0
B) &aie
C)ga
D) g1

67) Which gas absorbs the ultra violet rays of the sun
acting as a filter?

A) Neon
B) Ozone
C) Argon
D) Nitrogen

67) FORYS GHIQ YER AUR 694 944 IPIR 2T ARETS 0F]
GalMR QR |IglY @Gl ?

A) Gag

B) BsaIq

C) a1gQ

D) aqaie

68) Which among the following statements is the
CORRECT explanation for the term meridian?

A) Meridians are the lines of latitude
B) Meridians are the lines of longitude
C) Meridians are called as parallels

D) Meridians are located at 22.5° North of the Equator

68) FRYE @BYeR FUQ AR ARG UGS 6asl ATRER
A0R e g9e K98 ?

A) 28rg 609IQ ARG 696 GRIAN

B) gid91 604lIq FuEe 606 qRIAN

C) arIncasiq AUGe 69 QeIarg

D) Qge 60610 22.5° @91 981q 996 (P 696l 2980

69) Who among the following is the Chairman of Rajya
Sabha as on January 2019?

A) Venkaiah Naidu
B) Meira Kumar

C) Ramnath Kovind
D) Sumithra Mahajan

69) SARGS A & FIGAIRT 2019 ZGAIER AIFY ARNIQ 2L
2GE?

A) 6852 QIRQ

B) seqal gaia

C) Qiegiel saIan

D) gfigl felee

70) On which date did Mahatma Gandhi launch the Civil
Disobedience Movement with his famous Dandi March?

A) 12th March 1930
B) 15th August 1932
C) 30th January 1935
D) 30th August 1936

70) 694 @0 6a 91 SiF 988 @18 Qg AFe QTR QR
2I6RINE Q 2I0a KR |

A) 12 qig 1930
B) 15 &9@ 1932
C) 30 sigaIa1 1935
D) 30 &58 1936
TAarhAfiniArviA Ty
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66) Which of the following is a huge mass of ice that flows 68) GOAYe eRYER R 694 QAT AR 699 AYNER
like a slow river?

Q0K 2l 9okl K98 ?
A) Glacier

B) Snow

deed Techofworld.In

A) 2818 696lIg AURS G eIdrd
B) Qid0 6adiq AUEs 609 GRIArd
C) QrIg6esiq AIRe 6asl QEIaN
)

D) 9@ 624161 22.5° &91 989 Q96a FRISR 6q4¢l 2a80
66) FIRYS FUQ 696 AT Q IR F4IR QAR 26T AITIF

D

29 091 OF IES 62927 P : i
69) Who among the following is the Chairman of Rajya
A) & Sabha as on January 20197
e
B) &aaie A) Venkaiah Naidu
C) eq B) Meira Kumar
£ C) Ramnath Kovind
D) a&1 )

Sumithra Mahajan

67) Which gas absorbs the ultra violet rays of the sun
acting as a filter?

)]

9) FIRNYS Y @4 FIGAIQT 2019 29AIER AN ANQ AU

2e8?
A) Neon -
G A) e Qg
C) Argon B) scqql gaia
D) Nitrogen C) quieelel ex1de
. D) gfigi agiee

B7) FARYS NI Y5 FUQ 674 THIY YH4R 2E QIRETE aFi]
6IRIE @AQI QI @R ?

70) On which date did Mahatma Gandhi launch the Civil

N & Disobedience Movement with his famous Dandi March?
aeR
B) GG@\Q A) 12th March 1930
. B) 15th August 1932
C
)aeR C) 30th January 1935
D) eege D) 30th August 1936

68) Which among the following statements is the 70) 600 @0 69 991 QT 9de QI8 QG ATC ATRA SR
CORRECT explanation for the term meridian?

ZIRINE @ 2107 @RZER |
A) Meridians are the lines of latitude

B) Meridians are the lines of longitude
C) Meridians are called as parallels
D) Meridians are located at 22.5° North of the Equator

A) 12 qug 1930
B) 15 &i9g 1932
C) 30 @igaia1 1935
D) 30 a91& 1936
T AAlhAfiiAlA

|l
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NS UM AU a s A LLMIE A R Rl AN LS REEL

71) Which among the following is an example for abiotic
resource?

A) Fisheries
B) Fauna

C) Flora
D) Rocks

Techofworld.In

71) GORYE Q 624 IRIOQ ATR AT ARA IR ALILAE
268 ?

A) aayase
B) ag qs#e
C) aae s
D) de

72) Krishnadeva Raya, the most famous king of the

Vijayanagara Empire belongs to which of the following
Dynasty?

A) Sangama
B) Aravidu

C) Tuluva
D) Saluva

72) 300960 AIFIFIQ AQ0IQ FHIG QIRI QEERR QI F6FID
ARIQ 694 QIGS°E AL A°YS &6 ?

A) agal
B) aiqidg
C) gqel
D) aige

73) Which among the following imaginary lines are used

to determine the time of a place on the surface of the
Earth?

A) Equator

B) Parallels
C) Meridians
D) Latitudes

73) QuS19EER 6719d 9I9a 20R QISR QIR
FIRGe AU 699 QPR 6aS ISR FAICTIRIT?

A) 3ga 6adl

B) aqim gl
C) aade saall
D) 2@r8 casil

74) Who among the following was elected as the
permanent chairman of the Constituent Assembly?

A
B
C
D

Dr. KM. Munshi

Dr. Rajendra Prasad
Dr. B.R. Ambedkar
B.L. Mitter

g Y et

74) QORGe ArIg QIDIg AAJIF AN q LI 2UF AINER SUF
QAILIREYRI?

A) 3.6@.99. e

)

B) ¢. cleeg gaiQ
C) 2.8. aia. 2I6geea
D)@ﬂ foq

75) Quter core of the Earth composed of which of the
following alloys?

A) Iron and Coal
B) Coal and Nickel
C) Iron and Copper
D) Nickel and Iron

75) QAR Q1Y QUG FINYS P 676 Fig dIPER 9ZL?

A) 6ale 98° 6RIGRI

C) emlg ae° o4l

)
B) erionl 9e° feam
)
D)@

@M N9° 6RIE

Techofworld.In
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71) Which among the following is an example for abiotic 73) Q2Q1QYSA 69193 AIRQ AAG K AR
resource?

FARNGe AR 604 AIIGR 60T IR FRIELIREIN?

A) Fisheries n
B) Fauna A) Qg9 ol
C) Flora T h f Id I B) aqig el
D) Rocks eC O Wor . n C) afe sowl
D) zigrra 64l
71) AORGS FUQ 69 JRIAR AR 26T ARA IR AULAS
26e ? _
74) Who among the following was elected as the
permanent chairman of the Constituent Assembly?
A) aavase
B) @3 asie A) Dr. KM. Munshi
C) aBe ot B) Dr. Rajendra Prasad
R C) Dr. B.R. Ambedkar
D) &a D) B.L. Mitter
72) Krishnadeva Raya, the most famous king of the 74) FORGS Q2Q RILIQ ARG AR § VI UY AWS VAR
Vijayanagara Empire belongs to which of the following Qalgieaar?
Dynasty? Q"
A) Sangama A) ¢.69. 90, Qa3
B) Aravidu B) ¢. aeag gai@
©) Juklva C) 2. 21I9. A6geaa
D) Saluva o 164

D) Q. va. Feq

72) GeRR0a QIR AQ0IQ SHHIE QIR QE6LQ QIR FeAIs

a9 609 QING°8 A2 QYW 5J6R ? 75) Outer core of the Earth composed of which of the
following alloys?

A) agll A) Iron and Coal
B) 2iudg B) Coal and Nickel
C) gqel C) Iron and Copper
D) Nickel and Iron
D) aige
75) Q21Q Q124 QIS FORYS AUQ 699 (g IR 9ge?
73) Which among the following imaginary lines are used
to determine the time of a place on the surface of the
Earth? A) 612 e QIR
B) saiaml e° fean
A) Equator C) ecl i
B) Parallels seanaal
C) Meridians

D) Geam e enla

Techofworld.In

D) Latitudes
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Section 8 - Paperll-Science

76) A small spherical ball falling through a viscous
medium of negligible density has terminal velocity v.
Anaother ball of the same mass but of radius twice that of

the earlier falling through the same viscous medium will
have terminal velocity

A)v

s> | echofworld.In

C)vi4
D) v/2

76) 4@ 6813 60IA IR @R FGEY JRQ SEIT 9@ §ac FIRIF 624
ABA 696 v 60 AGMI | 61T AAIF TRGI AR AFgal AAIR
9gQ Ag AIg 99 GnS LR AT FFX AR 9@ NS 2BA

Q5 699
A) v
B) 2v
C) v/4
D) v/2

77)Water rises upto a height h in a capillary tube of certain
diameter. This capillary tube is replaced by a similar tube
of 1/3rd the diameter. Now water will rise to the height of
A) h/3

B) h/9

C) 3h

D) 9h

77) 4R FEE QUId §99 6390 @R16a 89 @90l h adis adeal
| 9@ 638@ AR AIF6Q 1/3 QYA IR AIQEY 8R1 ARG @SR
| QRFIR §F 6860 APl adis @S

A) h/3
B) h/9
C) 3h
D) oh

78) Malignant malaria can be caused by which
microorganism among the following options?

A) Monascus purpureus
B) Amoeba

C) Plasmodium falciparum
D) Planaria

78) QI0R 6F6MAAI GF Ta8 gER AUQ 629 PR Il
621091697

A) srigaqa adaaia

B) afial

C) qieeri@an andaes
D) quei@all

79) Chlamydomonas and Spirogyra are genus of which of
the following microorganisms?

79) QAIRERIEAIRIA B YIRCAGIRAI FAAUQ 698 JHFITR
geIe?

A) eQi6SieRI2ll
B) ainsa

C) qaa

D) quiedall

80) Vacuoles are single membrane bound sac like

vesicles present in cytoplasm of the plant cell. This single
membrane is known as

o wenest Techofworld.In

)

)
C) Chloroplast
D) Chromoplast
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Section 8 - Paperll-Science

76) A small spherical ball falling through a viscous
medium of negligible density has terminal velocity v.
Another ball of the same mass but of radius twice that of

the earlier falling through the same viscous medium will
have terminal velocity

A) v

s> [ echofworld.In

C)vi4
D) vi2

76) 9% 6816 69NN IQ @R A AFQ TR IR TR IS 6R
2301 690 v 62 dgml | 692 QIR TG FIRINER AP AR
QgR A (I8 99 oNQ 90gd MIAE J38 TR 9@ YRR AR

o5 629
A) v
B) 2v
C) v/4
D) v/2

77) Water rises upto a height h in a capillary tube of certain
diameter. This capillary tube is replaced by a similar tube
of 1/3rd the diameter. Now water will rise to the height of
A) h/3

B) h/9

C) 3h

D) 9h

77) 4@ 769 QUi §58 6390 A916a a7 @99l h adie edald

| 92 669Q OR1 9If6Q 1/3 QUIAQ Y@ AIgEY A1 4150 @GR!
| QEFIS BR 6R60 ARGl adie a0

A) h/3
B) h/9
C) 3h
D) 9h

78) Malignant malaria can be caused by which
microorganism among the following options?

A) Monascus purpureus
B) Amoeba

C) Plasmodium falciparum
D) Planaria

78) QIR 6A6mARI GF Gag gee U@ a4 9RSIR FIal
6210167

A) sieaed adaad

B) @il

C) qiesn@eia aindaies
D) qiei@a

79) Chlamydomonas and Spirogyra are genus of which of
the following microorganisms?

A) Protozoa
B) Algae

C) Fungi

D) Bacteria

79) QEIREBIEAINIA B ARCANRR FAFRIR 679 IR
ARB?

A) 6giegiesI2I
B) ziqss

C) aeq

D) quieq@a

80) Vacuoles are single membrane bound sac like

vesicles present in cytoplasm of the plant cell. This single
membrane is known as

o et Tachofworld.In

C) Chloroplast
D) Chromoplast



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Join Us-

Download Tech Of World App

e v vy

80) 6RIERINGER 6015~ ER1 910l QIF 62102191 (18 9F 6T

U2l 99 6RI9R ARETIYIFE| 69 QTN | ¥E 99a SRIG A4
Qa7

A) Queaia
B) soisRIgia
C) sqeaiga
D) sqisangya

81) If S is stess and Y is Young's modulus of material of a
wire, then the energy stored in the wire per unit volume is

A) 2Y/S?
B) 282
C) Si2Y
D) S?2Y

81) 98 ¥R Q18R 9ZA AR S 4e° AT JAIF Y, 656 CI0a IR
499 219006a B0 98 6208

A) 2v/32
B) 252y
C) s/2y
D) s¥2v

82) Which one of the following reactions are used in black
and white photography?

A) Iron nails dipped in copper sulphate solution
B) Decomposition of silver bromide by sunlight
C) Reaction of calcium oxide with water

D) Bumning of coal

82) Gaarig 699 93RRI QR 98 LT 6TEFIGITER TR
QAULIN?

A) Q2| R4ig AU IRETT G50 FLIRI
B) gdidad 7ol dnea 691F199Q 2996

C) of ade undan 291Ree goaal
D) eniam a&@a!

A aea

83) A stone projected vertically upwards from the ground
reaches a maximum height h. When it is at a height 3h/4,

WtsApp/Call- 8596976190

Techofworld.In

the ratio of its kinetic and potential energies is

83) @Ag A VINER AAGY FEVA FRIVGSYL IR 661G AR
h Q@EIEQ 268 | 6U6e6ese 92l 3h/4 Q@ka 28
£U6GETER 1LIQ 066 1e° 09 €13 F1:I6Q 2GS 6298

A) 4.3
B) 3:1
C)13
D) 3:4

84) In the reaction between the solution of lead (Il) nitrate
and potassium iodide, a yellow colored precipitate is

formed. Identify the compound formed among the
following options.

A) Potassium nitrate
B) Lead oxide
C) Potassium iodide
D) Lead iodide

84) @@ () FIRETS 99E B CACKAT ACALIRG AU
gogaise, 1 2% aara 6gddess 98 94 | faId saIRgQl

<@ 6dldQG fqag a4?

A) 6aI01d9 FIREES
B) 4 2gae

C) sae1den 2ieaene
D) Gie zeaRIee

85) Blue Green Algae belongs to the group of prokaryotes
and is also known as

A) Actinobacteria
e e | @CHOfworld. In
C) Lactobacillus

D) Pseudomonas
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80) 6ulcQUIngEe 691G Ea1 gIQl QIR 6219 (18 OF 6TITR 83) A stone projected vertically upwards from the ground

= = = P reaches a maximum height h. When it is at a height 3h/4,
QIR S GRS AREAITH 6 QRd | 9T 999 BRite. 98 the ratio of its kinetic and potential energies is
QRIAIN?
A) 4:3
veeens  Techofworld.In =3
B) 691621018 C)13
D) 3:4
C) sqi6aug)a
D) sgi6qig)a
83) @A AY AINEA QUG AN SRV IR EAIF AR
h Q9Ce U968 | 6U6E6RER Y9I 3h/4 Qeoea 28
81) If S is stess and Y is Young's modulus of material of a 6606967 2R 9aR 1e° G5 9@ 7GR AGAIC 6268
wire, then the energy stored in the wire per unit volume is
A) 2Y/S? A) 43
B) 28%Y B) 31
C) si2y C) 13
D) S#2Y
) D) 3:4

81) UG ¥R GIAQ AR OF S NL° el YA Y, 6969 FIRR I

€99 2196060 Qe 95 6208 84) In the reaction between the solution of lead (ll) nitrate

and potassium iodide, a yellow colored precipitate is

fomed. Identify the compound formed among the
A) 2v/S? following options.
B) 252y

A) Potassium nitrate
C) sr2v B) Lead oxide
D) s%/2v C) Potassium iodide
D) Lead iodide

82) Which one of the following reactions are used in black

! 84) o (I QReee 9E @ 6UICIGLS 2CAURING 1R
and white photography? s - i s o
Jogaleal, ¥a 2nedl Qura 6d9d650 9a a4 | GUQ 621N
A) Iron nails dipped in copper sulphate solution & 6dI5@0 fgnug K8”?
B) Decomposition of silver bromide by sunlight
C) Reaction of calcium oxide with water A) caIRIIAN FIRCST
D) Burning of coal B) [ala) 291G
C) capidan 2isaeae
82) Graq 676 GGl Y 98 LIRS 6TI6TIGITER TR D) fie 260ie1ee
QAUAN?
85) Blue Green Algae belongs to the group of prokaryotes
A) Q21 2415 RUQ ANETS 9G6Q GRIRA

and is also known as
B) gdy@as ¢Iel GRa 69171096 20a9e

A) Actinobacteria
C) o Q@ undan 29Inea goaal

)
S eanigia » cmaesceis [ @COfWoOrld. In
)

Lactobacillus
D) Pseudomonas
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85) @1 A9 69Q1R (9,918 2IN6T) 691910654 6aI81a 2°¢ 8 88) A body is thrown vertically upwards with velocity u

The distance travelled by it in the fifth and the sixtH
@ ___ KA QA | seconds are equal. The velocity u is given by (Given, g =
10m/(s"2))
A) 21R6a14I6R52!
B) cquisnicuicadzl ALl
= B) 75 mi/s
oewese Tachofworld.In - o
D) geeieaieia E D) 25 m/s
86) Which of the following options is NOT classified under 88) @ Qg U 69960 RINIEQ AU TFIGR! | IHC 4G §F
the Kingdom Fungi? 6J60960 42 IRl 2697 FAIAIRSI §ASI AR | 689 U
5 e p
A) Moulds 6268 (9@, g = 10m/(s"2))
B) Yeast
A
C) Worms ) 50 m/s
D) Mushroom B) 75 m/s
C) 100 m/s
_ o~ - _ . D
86) @¢lr1dQ 629 GREC ARe QI 2RYFER FU19L 6LIRN? ) 25 m/s
A) 3# ,
89) According to the work-energy theorem, the work done
B) aa by the net force on a particle is equal to the change in its
C) Bol/ed
) qaee A) potential energy
D) ag

it C) linear momentum

)
B) angular momentum
)
D) kinetic energy

87) In which of the following habitats, will plants usually
have spines instead of leaves?

A) Aquatic Region Habitat
B) Desert Region Habitat
C) Mountain Region Habitat

89) Q-3 QAU 2AQAIR, ¥@ F9R| AU6A AL R TR
QAT QIY LI CRLLIER TGRS A2 AR

D) Grasslands Region Habitat A) 30% 93
- — - B) emigng 6o
u C) 6age 9@ T h f | d I
87) GAAdQ 654 ZIRIAES, ARIGFRER ARIGIGE 98 FERER o eC o WO r AN
g D) a6e a8
@9 Q@eIN?
A) eo10 21Q1Q
B) ciged aiqia
C) aeie 2191

D) cledgd aieia
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85) Q1@ A9 639IR (LIS INET) 691RIRETA 6IF1R 28 @
4@l QU6 A1 G |

A) 2IGsRIayisaell
B) Quisgicyiea@ell
C)

. g;f’;i?j Techofworld.In

86) Which of the following options is NOT classified under
the Kingdom Fungi?

A) Moulds

B) Yeast

C) Worms

D) Mushroom

86) ACICIUQ 699 FRET K9 GG FUFER QTGO 621RAN?
A) G#

B) ag

C) Faigd

D) ag

87) In which of the following habitats, will plants usually
have spines instead of leaves?

A) Aquatic Region Habitat

B) Desert Region Habitat

C) Mountain Region Habitat
D) Grasslands Region Habitat

87) SgRQ 696 AIRIAER, ASLYERER ARIQESE UG IGRER
Q4 e@eI?

A) a%18 2IQIa
B) cged 2ieia
C) aigie aieQ
D) cied9d 2ieiQ

88) A body is thrown vertically upwards with velocity u.
The distance travelled by it in the fifth and the sixth

seconds are equal. The velocity u is given by (Given, g =
10m/(s2))

A) 50 m/s
B) 75m/s
C) 100 m/s
D) 25 m/s

88) 98 9g U 69066 TIMVEAR NG TeroR! | 98¢ 9L° §&

cde@Elen el glal ?J"E:‘QQ @RIl 9Tl AR | 696 U
c2ad (98, g = 10m/(s"2))

A) 50 m/s
B) 75 m/s
C) 100 m/s
D) 25 m/s

89) According to the work-energy theorem, the work done
by the net force on a particle is equal to the change in its

A) potential energy

B) angular momentum
C) linear momentum
D) kinetic energy

89) QY-8 AVAIY 2AGAIN, 99 R A6 AL IR TR
QAIFG RIN ILIQ 69RY6A ATER AT AT

A) 850 98

B) exigng o

)
)

aomwss | @chofworld.In
)

D) a&e 9@
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e L L

90) Read the following statements and choose the
CORRECT option.

(i) Halophytes are high salinity tolerant plants.

(i) Xerophytes are plants that have adapted to the
conditions where the rate of loss is potentially greater
than the availability of water.

A) (i) is FALSE and (ii) is TRUE TeCh OfWOf

) (
B) (i) is TRUE and (ii) is TRUE
C) (i) is FALSE and (ii) is FALSE
D) (i) is TRUE and (ii) is FALSE

90) G¢] 239w 9eg 8 A0R IRT PR 993 |
(i) 2ERTIAT JoR 2P AGIS LRI ER |

(i) 69EATIRNG LR 2R 69% QWA U YIQ JAFGER AQYR
62IR8T 690069 F9Q QUNES! RFIER VA LI 2R 21 |

A) (i) 6208 am 8 (i) 62e8 O
B) (i 628 0%
6268 oM
628 gm

62a8 0Q G (ii
62Q8 P @ (ii
6298 09 6 i

) )
) )
) )
) )

C) (i
D) (i
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90) Read the following statements and choose the
CORRECT option.

(i) Halophytes are high salinity tolerant plants.

(i) Xerophytes are plants that have adapted to the
conditions where the rate of loss is potentially greater
than the availability of water.

A) (i) is FALSE and (ii) is TRUE TeCh 0fW4

B) (i) is TRUE and (ii) is TRUE
C) (i) is FALSE and (ii) is FALSE
D) (i) is TRUE and (ii) is FALSE

90) G¢] @@gea Jeg 8 A0 TRT CLR A9G |
(i) 2RTING YR A0 NGB AL 1P QB |

(i) 696QIT NG e 6208 692 AEQ U4 YIQ AAAEER Q9w
621088 6JR0I6Q ¥R AINIG! QRFIEA VG 2R 2R &I |

A) (i) 6228 am G (i) 6228 0@
B) (i) 62@& 0@ 6 (ii) 6298 0%
C) (i) 6228 @ G (i) 6208 o
D) (i) 6228 O G (ii) 6298 9f
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Question Paper No: 53608 56

Answer Key

l: A 3Lk D 6l: D
2. A 32. C 62. A
3. D 33.B 63. A
4. D 34.D 64 C
5 © 35 A 65: D
6. A 36. A 66. A
7. D 37. A 67. B
8. € 38. C 68 B
9. B 39 D 69 A Tecr
10. D 40. B 70. A
1. € 41, B 71. D
12. A 42. A 72. C
13. C 43. A 73. C
4. D 44. C 74. B
15. B 45. A 75. D
6. C 46. D 76. D
7. B 47, & 77, €
18. B 48. D 78. C
19. A 49. D 79. B
20 D 50. D 80. B
2. & 31. D 3L D
22. B 52. A 82. B
25 € 3. D 83 C
24. D 54. A 84. D
25. B 55. A 8% B
26. B, 56.[A /786, C
264C 57. @ 88 B
28. By, 58. A 88. A
29. B 58 A 89. D
30. A 60. B 90. B
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